
1 ÛÊê
1403 ¤�Ø�î ü®�þ¤ §¤¢ ¼þÂÈ� ø Û�Ü½�"¢Âêüû�ª üÔ¬'

"¢Âêüû�ª üÔ¬' 1403 ñø� ´��÷ ¤�Ø�î ö���Æ� ø �þ�� ü®�þ¤ ¾¨�� 1.1
2(1+ 2a) = a+ 5� a ==) 2+ 4a = 5 ==) 4a = 3 ==) a = 34 ==) 34 ; 52 ; 174 (1d = 52 � 34 = 74 ==) a9 = a+ 8d = 34 + 14 = 14=75(T ==) T ) ==) (T ==) F ) � T ==) F � F Å� ¢�ª ­Âê ´¨¤¢ r Âð� (2(T ==) F ) ==) (F ==) F ) � F ==) T � T Å� ¢�ª ­Âê ´¨¤¢�÷ r Âð� ñ��.´¨� ¥ ¤�Ýû � r �� ùÀª ù¢�¢ ù¤��ð ßþ�Â����:�� ´¨� Â��Â� üÞú¨ §�b¤ ñ�Ï Å� À�µÆû ö�ÆØþ ­Âä ý�¤�¢ �ÎÖ÷ ø¢ ö�� (3xS = �1=5+ 32 = 34 = � b2a ==) S = � ba = 32 :�� ´¨� Â��Â� �ø¢ ��¤¢ �ó¢�ãõ ý�û�Èþ¤ é�µ¡� (4p�jaj =p4k2 � 20 = 43k ==) 4k2 � 20 = 169 k2 ==) 9k2 � 45 = 4k2==) 5k2 = 45 ==) k22 = 92 ==) "k22 # = �92� = 4m = tan1350 = �1 ==) y = �x+ 2 (5OA =p42 + (�2)2 = 5p2 ßþ�Â���� ´¨� A(4;�2) ø (0;2) ¯�Ö÷ Í¨øM(2;0) �ÎÖ÷f(p5) = 5� 2 = 3 (6f(3a) = 2 ==) 9a2 � [3a℄ = 2 1
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"¢Âêüû�ª üÔ¬' 1403 ¤�Ø�î ü®�þ¤ §¤¢ ¼þÂÈ� ø Û�Ü½� .1 ÛÊê 2.Ý�¨¤üõ a = �13 �� ��þ�ð ¢¤ �� Àª�� ¼�½¬ ¢Àä Àþ�� 9a2 Å�px� a = a�px ==) x� a = a2 � 2apx+ x ==)�a = a2 � 2apx ==)�a = a2 � 2apx (7==) 8><>: a = 0�1 = a� 2px = 0 ==) x = �a+ 12 �2.¢¤�¢ ¢��ø a ý�Â� ¼�½¬ ¢Àä 6 ßþ�Â���� ´¨� ¤�ÂìÂ� a = 1;3;5;7;9 ý�Â� �ø¢ �ó¢�ãõy = 1 ==) 10� x = �10 ==) x = 20 (8Àû��¡ ¤�±ä (1;20) �ÎÖ÷ ¥� f â��� Å� À�îüõ ¤�±ä (20;1) �ÎÖ÷ ¥� f â��� öø¤�ø ø ùÀª ù¢�¢ Í¡Å� ¢Âîf(1) = 1+ 6+ a+ 1 = 20 ==) a = 12(x2 + 2x+ 4)(x� 2) = 23 ==) x3 � 8 = 8 ==) x = 3p16 ==) log213 (24)13 = 4 (98<: f(0) = 2 ==) 
+ log5 b = 2f(2=4) = 0 ==) 
+ log5(2=4a+ b) = 0 ==) log5 b� log5(2=4a+ b) = 2 (10==) b2=4a+ b = 52 = 25 ==) 60a+ 25b = b ==) 60a = �24b ==) ab = �25AH =pAB2 �AH2 =p42 � 32 = p7 :�� ´¨� Â��Â� ùÀä�ì Â� ¢¤�ø á�Ô�¤� (11tan(� � �) = p72 ==) tan(�) = �p72 Å� ´¨� 3 
os(4x) + 2 sin(x� �4 ) Â��Â� ùÀª ù¢�¢ �¤�±ä (123 
os(�3 ) + 2 sin( �12 � �4 ) = 32 � 1 = 12.´¨� ß��� (3) ��þ�ð �î ´¨� 0 Â��Â� ùÀª ù¢�¢ �¤�±ä � = �4 ý�Â� (13
os(2x) + 1� 
os(2x)2 = 0 ==) 
os(2x) = �1 ==) 2x = 2k� + � ==) x = k� + �2 ; k 2 Z (14.¢�� Àû��¡ �4� Â��Â� �5�2 ;�3�2 ;��2 ; �2 ���� 4 á�Þ¹õf(x)� g(x) = 4(x� 1)(x+ 3) � 1x� 1 = � 1x+ 3 ö�� (15(�3;0) �ÎÖ÷ �ûö� üì�� Û½õ �î À�µÆû f � g â��� üÖê� °÷�¹õ y = 0 ø Ý��ì °÷�¹õ x = �3Å�.¢�� Àû��¡°þ�Â® Âð� ,«�¡ â�� � ßþ� ¤¢ ßÞ® ¤¢ .À�ª�� Â ��Â � Ýû� � ´¨�¤ ø ²� À� ¼�½¬ ¯�Ö÷ ��Þ� ¤¢ Àþ� � (16.¢�ªüõ Û¬�� üÚµ¨�� � ,À�ª�� Â ��Â � �ø¢ �Î��® ¤�ÀÖõ � � ø ù¢�� Â ��Â � Ýû� � ñø� �Î��® ¤¢ [�x℄ ø [x℄3a2 � 1 = 1� a ==) 3a2 + a� 2 = 08<: a = �1 ñ�±ì Û��ì Â�èa = 23 ==) b = 13 ==) ab = 2f(x)g(x) = x+ 8� x = 8 ==) �fg�0 (1) = 0 (17�fg�0 (1) = f 0(1)g(1) � g0(1)f(1)g2(1) = 0 ==) f 0(1)g(1) � g0(1)f(1) = 0ßÞ® ¤¢ .x � 0Å� x = 1�m � 1 ö�� (18
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3 "¢Âêüû�ª üÔ¬' 1403 ñø� ´��÷ ¤�Ø�î ö���Æ� ø �þ�� ü®�þ¤ ¾¨�� .1.1y0 = m(�1+m)� 2(x� 1+m)2 � 0 ==) m2 �m� 2 � 0 ==)�1 � m � 2.¢�� Àû��¡ üóø�÷ â��� m = 1 ø m = 0 ¼�½¬ ¤�ÀÖõ ø¢ ý�Â� ßþ�Â����8><>: ab+ 
 = 1a ==) a2b+ a
 = 1 üÚµ¨��� ¯Âªb = � 1a2 ==) a2b = �1 ýÂþÁ�ÕµÈõ ¯Âª ==) a
 = 2 (19.
 = 2 ßþ�Â���� b = �1 ø b+ 
 = 1Å� ´¨� ¤�ÂìÂ� Íþ�Âª a = 1 ý�Â� :üµÆ� ©ø¤Å� À�îüõ ¤�±ä â��� ¥� ÓÎä �ÎÖ÷ ¤¢ §�Þõ Í¡ (20y(�1) = �4 ==) �1+ a� b� 1 = �4 ==) a� b = �2y0 = 3x2 + 2ax+ b ==) y00 = 6x+ 2a .Àª Àû��¡ ÂÔ¬ Â��Â� x = �1 ý�Â�y00(�1) = �6+ 2a = 0 ==) a = 3 ==) b = 5 ==) ab = 0=6¢Âêüû�ª üÔ¬
"üõ�¨� ¢�¥� ø ý��êÂ� ø ü�ê ù�ÚÈ÷�¢ §¤Àõ'"üû�ÚÈ÷�¢ ü¨¤¢ °µî Óó�õ'"üµóø¢ �÷�Þ÷ §¤�Àõ ö���Æ� ¤�Ø�î ø ©¥�õ� Â��¢'09358647117
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